2,5+

——10gPypy, = 109 Pyny —10gPyy,, - = 10gY, 0,5[logp,y, +logY]

CIE02, RG, YB and radial directionsa, b, r n=2,5000,n,=-1,000, D50
c G Y ani=ParPa=Par 1,216
- & R Pon™PonPou=Por~(-0.822)
® M

w c 531c 567c AcH

500 600 700 735 772 An)

109 gy = 109 Py == 109 Pryye log, 0,5[logp;,, +logY]
CIE02, RG, YBand radlal directions, b, r n=2,5000,n,=-1,000, D50

Y Pay

n n 1

-1,

S0 150 270 360
=P, FNaP,=2,5[(1,008-0,171+0,000)A1  Ay=(a-a)Y  Cagny=lA2 B2
b=pyy=ny py=—1,0[(0,000:+0,000+1,008)4] Br=(b-b)Y hygm=atanB, /A, ]

DE71

1-7R_pchartl=1_xcolorl=0(CIE02) DE711-4A



25T —10gPgny = 0Py = 10gPyy,. - = logY, 05[logp,,, +log Y]

CIE10, RG, YBand radlal directions, b, r n=2,5000,n,=-1,000, D50

anParPaPan~1,227

O
S PnPorRyi=Por(-0:811)
@

O
o
.I

4 5c 531c 567c AcH

=y
400 500 600 R T A
2, 109 Pany = 109 Ppnys = 109P1ny: logY, 0,5[logp,, +logY]
CIE10, RG, YBand radlal directions, b, r n=2,5000,n,=-1,000, D50
2,0+ Y P
& S S
R br
g J ¥ ni -
15+ B o

n

-1,

S0 180 270 360
=P, FNaP,=2,5[(1,008-0,171+0,000)A1  Ay=(a-a)Y  Cagny=lA2 B2
b=pyy=ny py=—1,0[(0,000:+0,000+1,008)4] Br=(b-b)Y hygm=atanB, /A, ]

DE71

1-7R_pchartl=1_xcolorl=1(CIE10) DE711-4A



25T —10gPgny = 109Pypy = 10gPyy,, - = logY, 05[logp,,, +log Y]

CIEF02, RG, YBand radla\ directionsa, b, m=2,5000,=-1,000, D50j
2,04 s o an“ParPaPar 1,219
S 3 R PonPorPy=Por~(-0,821)
.. e

154 .
L]

495c 531c 567c AcH

=y " "
400 500 600 R T A
25T — log Panw = 109Pyny = 10gPp,. logY, 0,5[logp,, +logY]
CIEF02, RG, YB and radial directionsa, b, rm=2,5000,n,=-1,000, D50
- Y
29 R.©O G C
° ® ©
1,51

1y N N N

S0 180 270 360
=P, FNaP,=2,5[(1,008-0,171+0,000)A1  Ay=(a-a)Y  Cagny=lA2 B2
b=pyy=ny py=—1,0[(0,000:+0,000+1,008)4] Br=(b-b)Y hygm=atanB, /A, ]

DE711-7R_pcharti=1_xcolor=2(CIEF02) DE711-4A



2,5+

——10gP,py = 109 Py —10gPyy,, - = 10gY, 0,5[logp,,, +log¥]

CIEF10, RG, YBand radial directionsa, b, rn;=2,5000,n,=-1,000, D50
R g anmpan-parpan-1(230 )
C R Poni=PorPpu=Por~(-0,810;
S- -6 2 oni=Pon qu or'

495c 531c 567c AcH

=y " "
400 500 600 R T A
25T — log Panw = 109Pyny = 10gPp,. logY, 0,5[logp,, +logY]
CIEF10, RG, YBand radial directionsa, b, r=2,5000,n,=-1,000, D50
27 R § G c
> ° e}
1,51

1y N N N

S0 180 270 360
=P, FNaP,=2,5[(1,008-0,171+0,000)A1  Ay=(a-a)Y  Cagny=lA2 B2
b=pyy=ny py=—1,0[(0,000:+0,000+1,008)4] Br=(b-b)Y hygm=atanB, /A, ]

DE711-7R_pcharti=1_xcolor=3(CIEF10) DE711-4A



25T = 109 Pgny, = 10y —100P . - = 109Y, 05[l0gp,y, +logY]
R17M, RG, YB and radial directionsa, b, r n=2,5000,n,=-1,000, D50
2,01 G - ani=ParPa=Par 11175

8 5} Q Pon™Pon Rou™Pori-(~0.808)

495¢ 531c 567c Ac g
Wl

- N
400 500 600 700 736 712 )\,

25T = 109 Pgn = 100Dy, —100P . - = 10gY, 05logp,,, +logY]
R17M, RG, YB and radial directions, b, r n=2,5000,n,=-1,000, D50

2,01 G
o

o<
o0

n n

-1, "
S0 180 270 360
a=p,7N,p,;=2,5[(1,00&-0,171+0,000)4] ~ A ~(a-a)Y Cpg,,~[A2+B2]1?
b=p,,=n,p,=—1,0[(0,006+0,000+1,000)4] B, =(b-b,)Y hug,=atanB, /A,
DE711-7R_pchartl=1_xcolorl=4(R17M) DE711-4A




== 10gPypy = 109 Py =109y, - = 10gY, 0,5[logp,y, +logY]

R17Ms, RG, YB and radial directionsa, b, r n=2,5000,n,=-1,000, D50
3 6. -Y an=ParPa=Par 1,169
c 8" °._&8 PonPor P Dor~(~0.809)

““ado 500 600 700 735 772 An)

[ = 109Pany = 109Ppn, =109 Py, logY, 0,5[logp,, +logY]
R17Ms, RG, YB and radial directionsa, b, r n=2,5000,n,=-1,000, D50

Y G
R
o ° © S
1,51
101, —— e —— - e —— -
0,5+
R__Y
0,6
~0,5+
-1, t 1 +
90 180 270 360
a=p,7N,p,;=2,5[(1,00&-0,171+0,000)4] ~ A ~(a-a)Y Cpg,,~[A2+B2]1?
b=p,,=n,p,=-1,0[(0,006+0,000+1,008)] B, =(b-b,)Y hyg,~atanB /A ]

DE711-7R_pcharti=1_xcolorl=5(R17Ms) DE711-4A



